The Comparison Question

Start your answer with a statement such as “Sources A and B mostly agree about…” or “do not agree at all about…”

Then back up your statement with a point-by-point comparison. Don’t just copy out bits of your source. Show you understand it by explaining what the sources mean.

“Sources A and B partly agree about the attitudes towards … In Source A it says that … and Source B agrees by saying that…. However the sources disagree about … Source A  says … while Source B says… 

The more you develop each point the more marks you will get.

You will always have to answer a compare question in your exam. They will usually be obvious and have ‘compare’ in the question but even if they don’t they will be easy to identify because they are the only questions to mention two sources – A and B
Sources A and B are about the causes of poverty in the early twentieth century.

Source A

The investigations of Booth and Rowntree both revealed the problems facing the poorer classes in

Britain. They identified some of the direct causes of poverty. The main reasons were that a man’s

earnings were not enough to support himself and his family. They were not able to obtain

employment when trade was bad. Some men could not work due to sickness. Bad habits, such

as drinking and gambling, also caused problems.
Source B

Although many people thought Britain was experiencing a golden age, there was increasing

unemployment and thirty per cent of the population were living in poverty. Of those living in

poverty, about two-thirds were in that position because of low pay or irregular earnings. About

one quarter were poor because of illness. Only about one-tenth were poor because of personal

failings such as drunkenness or gambling.
1. How far do Sources A and B agree about the causes of poverty in the early twentieth

century?



Marks 4

The sources agree to a large extent. They both agree that it was hard to find work. Source A says: “not able to obtain employment when trade was bad” and B states: “there was increasing unemployment.” They both show that the money people earned was not enough to live on. Source A says: “a man’s earnings were not enough to support himself” and B states: “of those in poverty about two thirds were because of low pay.” The sources also show how some people suffered because of secondary poverty. Source A says: “bad habits such as drinking and gambling caused problems” and B states: “a tenth were poor because of failings such as drunkenness or gambling.” The sources agree that poor health played a part in poverty. Source A states: “some men could not work due to sickness” and source B says: “about a quarter were poor because of illness.”

Source C:

The Manchester Guardian newspaper reported the first payment of Old Age Pensions:
The first payments under the Old-age Pensions Act were made yesterday at post offices…probably about half a million needy old people were made glad yesterday for the rest of their lives, and it is not surprising to read that many of the recipients expressed heartfelt thanks to the willing instruments of the State’s bounty – the post-office clerks who handed them the money.
Source D:

In her village Flora Thomson saw the reaction to Pensions:
When old age pensions began life was transformed for aged cottagers. They were relieved of anxiety. They were suddenly rich. Independent for life! At first when they went to the Post Office tears of gratitude would run down the cheeks of some and they would say as they picked up their money, ‘God bless that Lord George and God bless you, miss’ and there were flowers from their gardens and apples from the trees for the girls who merely handed them the money.

2. Compare sources C and D as evidence about the success of the Old Age Pension scheme.


The historian Stephen Merron wrote SOURCE E in 1969.

SOURCE E
The Liberal social reforms were in no sense a welfare state. They provided a small pension for those over 70 and helped to insure some workers against sickness and unemployment. Those not included still needed a safety net, which meant that it was necessary to keep the poor law and the workhouse.

The historian Maurice Kirby wrote SOURCE F in 1983.

SOURCE F
The reforms of the Liberal government 1906-1914 were impressive, the greatest ever passed by one government up to that time. They developed a new plan of action to meet the most urgent social needs of the working classes and did so by breaking away from the workhouse system.

3. Compare the evidence about the achievements of the Liberal Government 1906-14 in SOURCE E and SOURCE F.
Marks 4

Source G is about the Home Front during the Second World War.

During the Second World War the Home Front was treated and run like a battlefield. The priority

was to ensure “fair shares for all” and to avoid waste. The war caused the government to get

more involved in all areas of life. The Ministry of Food established the responsibility of the

government to ensure the nation’s health and safe food supply. War wounded, including bomb

victims, were given free treatment. It soon became clear people expected the government to

continue to do more for them after the war.
4. Why did the Second World War lead people to expect improvements in social welfare? 

(Use Source G and recall.)
Marks 5
Answers

1. The sources agree to a large extent. They both agree that it was hard to find work. Source A says: “not able to obtain employment when trade was bad” and B states: “there was increasing unemployment.” They both show that the money people earned was not enough to live on. Source A says: “a man’s earnings were not enough to support himself” and B states: “of those in poverty about two thirds were because of low pay.” The sources also show how some people suffered because of secondary poverty. Source A says: “bad habits such as drinking and gambling caused problems” and B states: “a tenth were poor because of failings such as drunkenness or gambling.” The sources agree that poor health played a part in poverty. Source A states: “some men could not work due to sickness” and source B says: “about a quarter were poor because of illness.”

3. Compare sources C and D as evidence about the success of the Old Age Pension scheme.

· Both mention how the Old Age Pension scheme changed people’s lives

C- ‘ … old people were made glad for the rest of their lives…’

D- ‘…life was transformed…’

· Both describe how recipients were 

C- ‘..old people were made glad…’

D- ‘They were relieved of anxiety…’

· Both describe how recipients were thankful

3. From the source:

· Priority was fair shares for all

· Ministry of food ensured people were healthy

· If wounded, bomb victims were given free treatment

From Recall:

· Free milk, orange juice and food was given to all children at school

· Pregnant mothers got milk tokens

· The Beveridge Report made lots of recommendations

· Houses needed to be rebuilt







